Memoirs on Differential Equations and Mathematical Physics $$\rm Volume~54,~2011,~69{-}81$$

A. Lomtatidze and J. Šremr

ON OSCILLATION OF SECOND-ORDER LINEAR ORDINARY DIFFERENTIAL EQUATIONS

Dedicated to the memory of Professor T. Chanturia

Abstract. A new oscillation criterion is proved for second-order linear ordinary differential equations with locally integrable coefficients. It is also shown that a certain generalization of the Hartman–Wintner theorem can be derived from the result obtained.

2010 Mathematics Subject Classification. 34C10.

Key words and phrases. Linear second-order ordinary differential equation, Kamenev theorem, oscillation.

რეზიუმე. მეორე რიგის წრფივი დიფერენციალური განტოლებებისათვის ლოკალურად ინტეგრებადი კოეფიციენტებით დადგენილია რხევადობის ახალი საკმარისი პირობები. ნაჩვენებია აგრეთვე, რომ მიღებული შედეგიდან გამომდინარეობს ჰარტმან–ვინტნერის თეორემის გარკვეული განზოგადება. On Oscillation of Second-Order ODEs

1. INTRODUCTION

In the present paper we consider the second-order linear differential equation

$$u'' = -p(t)u + g(t)u',$$
(1.1)

where $p, g \colon \mathbb{R}_+ \to \mathbb{R}$ are locally integrable functions such that

$$\int_{0}^{+\infty} \exp\left(\int_{0}^{s} g(\xi) \,\mathrm{d}\xi\right) \mathrm{d}s = +\infty.$$
(1.2)

As usual, in the Carathéodory case, a function $u: \mathbb{R}_+ \to \mathbb{R}$ is said to be a solution to equation (1.1) if it is absolutely continuous together with the first derivative on every compact interval contained in \mathbb{R}_+ and satisfies

$$u''(t) = -p(t)u(t) + g(t)u'(t)$$
 for a.e. $t \ge 0$.

Equation (1.1) is said to be *oscillatory* if every solution of this equation has a sequence of zeros tending to infinity.

In [7], the following oscillation criterion is proved for the equation

$$u'' = -p(t)u. \tag{1.3}$$

Theorem 1.1 ([7]). Let the condition

$$\limsup_{t \to +\infty} \frac{1}{t^{\alpha}} \int_{0}^{t} (t-s)^{\alpha} p(s) \,\mathrm{d}s = +\infty \tag{1.4}$$

hold for some $\alpha > 1$. Then equation (1.3) is oscillatory.

It is also mentioned therein that the well-known Wintner criterion (see [10])

$$\lim_{t \to +\infty} \frac{1}{t} \int_{0}^{t} \left(\int_{0}^{s} p(\xi) \,\mathrm{d}\xi \right) \mathrm{d}s = +\infty \tag{1.5}$$

follows from this result, because equality (1.5) guarantees the validity of relation (1.4) with $\alpha = 2$. Theorem 1.1 has been then generalized for the second-order equations, e.g., in [8,9] (see also references therein). For higher-order equations, the integral oscillation criteria have been proved in [2–4].

The aim of the present paper is to establish a new oscillation criterion, which is applicable to the case where the "Kamenev-type" upper limit (1.4) is finite. The main result (namely, Theorem 2.1) and some further remarks are given in Section 2, and the proofs are given in Section 3. Moreover, a certain generalization of the Hartman–Wintner theorem (namely, Corollary 2.1) is derived in Section 2.

A. Lomtatidze and J. Šremr

2. Main Results

Let

$$\sigma(g)(t) := \exp\left(\int_{0}^{t} g(s) \,\mathrm{d}s\right), \quad f(t) := \int_{0}^{t} \sigma(g)(s) \,\mathrm{d}s \quad \text{for } t \ge 0.$$
 (2.1)

For any $\alpha > 1$, $\beta > 0$, and $\lambda < 1$, we put

$$k(t;\alpha,\beta,\lambda) := \frac{1}{f^{\alpha\beta}(t)} \int_{0}^{t} \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \,\mathrm{d}s \quad \text{for } t > 0 \quad (2.2)$$

and

$$c(t;\lambda) := \frac{1-\lambda}{f^{1-\lambda}(t)} \int_{0}^{t} \frac{\sigma(g)(s)}{f^{\lambda}(s)} \left(\int_{0}^{s} \frac{f^{\lambda}(\xi)p(\xi)}{\sigma(g)(\xi)} \,\mathrm{d}\xi \right) \mathrm{d}s \quad \text{for } t > 0.$$
(2.3)

We are now in a position to formulate our main result.

Theorem 2.1. Let $\alpha > 1$, $\beta > 0$, $\lambda < 1$, condition (1.2) hold, and either

$$\limsup_{t \to +\infty} k(t; \alpha, \beta, \lambda) = +\infty$$
(2.4)

or

$$-\infty < \limsup_{t \to +\infty} k(t; \alpha, \beta, \lambda) < +\infty, \tag{2.5}$$

the function $c(\cdot; \lambda)$ does not possess a finite limit as $t \to +\infty$. (2.6)

Then equation (1.1) is oscillatory.

Observe that condition (2.4) with $\beta = 1$, $\lambda = 0$, and $g \equiv 0$ reduces to the Kamenev condition (1.4). Therefore, Theorem 2.1 can be regarded as an extension of Theorem 1.1 to the case where condition (1.4) is violated.

It is well-known that oscillatory properties of equation (1.1) can be also described in terms of lower and upper limits of the function c. We mention, in particular, the following Hartman–Wintner theorem (see A. Wintner [10] and P. Hartman [5,6] for $\lambda = 0$ and $g \equiv 0$).

Theorem 2.2 (Hartman–Wintner). Let $\lambda < 1$, condition (1.2) hold, and either

$$\lim_{t \to +\infty} c(t; \lambda) = +\infty,$$

or

$$-\infty < \liminf_{t \to +\infty} c(t;\lambda) < \limsup_{t \to +\infty} c(t;\lambda)$$

be satisfied. Then equation (1.1) is oscillatory.

It is clear that for the given $\lambda < 1$, the following two cases remain uncovered in the previous theorem:

there exists a finite limit
$$\lim_{t \to +\infty} c(t; \lambda)$$
 (2.7)

72

and

$$\liminf_{t \to +\infty} c(t;\lambda) = -\infty.$$
(2.8)

The case, where (2.7) holds, is already studied in literature (see, e.g., [1] and references therein), but the authors know that there is still a broad field for further investigation if (2.8) is satisfied. Corollary 2.1 below gives a new oscillation criterion which is applicable also to the case where (2.8) holds.

For any $\lambda < 1$, we put

$$h(t;\lambda) := \frac{2(1-\lambda)}{f^{2(1-\lambda)}(t)} \int_0^t \sigma(g)(s) f^{1-2\lambda}(s) c(s;\lambda) \,\mathrm{d}s \quad \text{for } t > 0.$$

Theorem 2.1 yields

Corollary 2.1. Let $\lambda < 1$, condition (1.2) hold, and either

$$\limsup_{t \to +\infty} h(t; \lambda) = +\infty$$

or

$$-\infty < \limsup_{t \to +\infty} h(t; \lambda) < +\infty,$$

the function $c(\cdot; \lambda)$ does not possess a finite limit as $t \to +\infty$.

Then equation (1.1) is oscillatory.

This statement can be regarded as a generalization of Theorem 2.2. Indeed, it is not difficult to verify that if there exists a (finite or infinite) limit $\lim_{t\to+\infty} c(t;\lambda)$, then there exists also a limit $\lim_{t\to+\infty} h(t;\lambda)$ and both limits coincide. Moreover, if

$$\liminf_{t \to +\infty} c(t; \lambda) > -\infty \tag{2.9}$$

then

$$\liminf_{t \to +\infty} h(t;\lambda) > -\infty$$

Therefore, if the assumptions of Theorem 2.2 are satisfied then the assumptions of Corollary 2.1 hold, as well. Note also that the assumptions of Theorem 2.2 require necessarily the validity of inequality (2.9). The following example shows that in some cases can be applied Corollary 2.1, while condition (2.9) is violated (i. e., (2.8) holds).

Example 2.1. Let $g \equiv 0$ and $p(t) = (2 - t^2)\cos(t) - 4t\sin(t)$ for $t \ge 0$. Then

$$c(t;0) = t\cos(t), \quad h(t;0) = 2\sin(t) + \frac{4}{t}\cos(t) - \frac{4}{t^2}\sin(t) \quad \text{for } t \ge 0,$$

and thus

$$\begin{split} \liminf_{t \to +\infty} c(t;0) &= -\infty, \quad \limsup_{t \to +\infty} c(t;0) = +\infty, \\ \liminf_{t \to +\infty} h(t;0) &= -2, \quad \limsup_{t \to +\infty} h(t;0) = 2. \end{split}$$

Consequently, Theorem 2.2 with $\lambda = 0$ cannot be applied in this case. However, Corollary 2.1 yields that equation (1.1) is oscillatory.

3. Proofs

In order to prove Theorem 2.1, we need the following two lemmas.

Lemma 3.1. Let $\alpha > 1$, $\beta > 0$, $\lambda < 1$, condition (1.2) hold, and u be a solution to equation (1.1) satisfying the relation

$$u(t) \neq 0 \quad for \ t \ge t_0 \tag{3.1}$$

with $t_0 > 0$. Then

$$\limsup_{t \to +\infty} k(t; \alpha, \beta, \lambda) < +\infty.$$
(3.2)

If, in addition, the inequality

$$\limsup_{t \to +\infty} k(t; \alpha, \beta, \lambda) > -\infty$$
(3.3)

 $is\ satisfied,\ then$

$$\int_{t_0}^{+\infty} \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2} \right]^2 \mathrm{d}s < +\infty, \tag{3.4}$$

where

$$\varrho(t) := \frac{u'(t)}{u(t)\sigma(g)(t)} \quad \text{for } t \ge t_0.$$
(3.5)

Proof. In view of (1.1), relation (3.5) yields that

$$\varrho'(t) = -\frac{p(t)}{\sigma(g)(t)} - \sigma(g)(t)\varrho^2(t) \quad \text{for a. e. } t \ge t_0,$$
(3.6)

whence we get

$$\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} f^{\lambda}(s)\varrho'(s) \,\mathrm{d}s =$$

$$= -\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \,\mathrm{d}s -$$

$$-\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} f^{\lambda}(s)\sigma(g)(s)\varrho^2(s) \,\mathrm{d}s \quad \text{for } t \ge t_0.$$

Integration by parts on the left-hand side of the latter equality results in

On Oscillation of Second-Order ODEs

$$-\lambda \int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} \frac{\sigma(g)(s)}{f^{1-\lambda}(s)} \varrho(s) \,\mathrm{d}s =$$
$$= -\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \,\mathrm{d}s -$$
$$-\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} f^{\lambda}(s)\sigma(g)(s)\varrho^2(s) \,\mathrm{d}s \quad \text{for } t \ge t_0. \quad (3.7)$$

We now point out that

$$\begin{aligned} -\frac{1}{2} \int_{t_0}^t \left(f^\beta(t) - f^\beta(s) \right)^\alpha f^\lambda(s) \sigma(g)(s) \varrho^2(s) \, \mathrm{d}s + \\ &+ \lambda \int_{t_0}^t \left(f^\beta(t) - f^\beta(s) \right)^\alpha \frac{\sigma(g)(s)}{f^{1-\lambda}(s)} \, \varrho(s) \, \mathrm{d}s = \\ &= -\frac{1}{2} \int_{t_0}^t \left(f^\beta(t) - f^\beta(s) \right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s) \varrho(s) - \lambda \right]^2 \, \mathrm{d}s + \\ &+ \frac{\lambda^2}{2} \int_{t_0}^t \left(f^\beta(t) - f^\beta(s) \right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \, \mathrm{d}s \quad \text{for } t \ge t_0 \end{aligned}$$

and

$$\begin{aligned} &-\frac{1}{2}\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha} f^{\lambda}(s)\sigma(g)(s)\varrho^2(s)\,\mathrm{d}s - \\ &-\alpha\beta\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha-1} f^{\beta-1}(s)f^{\lambda}(s)\sigma(g)(s)\varrho(s)\,\mathrm{d}s = \\ &= -\frac{1}{2}\int_{t_0}^t f^{\lambda}(s)\left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha-2} \times \\ &\times \sigma(g)(s)\left[\left(f^{\beta}(t) - f^{\beta}(s)\right)\varrho(t) + \alpha\beta f^{\beta-1}(s)\right]^2 \mathrm{d}s + \\ &+ \frac{\alpha^2\beta^2}{2}\int_{t_0}^t f^{\lambda}(s)\left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha-2} f^{2(\beta-1)}(s)\sigma(g)(s)\,\mathrm{d}s \quad \text{for } t \ge t_0. \end{aligned}$$

A. Lomtatidze and J. Šremr

Therefore relation (3.7) yields

$$\begin{aligned} k(t;\alpha,\beta,\lambda) &\leq -\frac{1}{2} \int_{t_0}^t \left(1 - \left[\frac{f(s)}{f(t)} \right]^\beta \right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda \right]^2 \mathrm{d}s + \\ &+ \frac{\lambda^2}{2} \int_{t_0}^t \left(1 - \left[\frac{f(s)}{f(t)} \right]^\beta \right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \mathrm{d}s + \\ &+ \frac{\alpha^2 \beta^2}{2f^{\alpha\beta}(t)} \int_{t_0}^t \left(f^\beta(t) - f^\beta(s) \right)^{\alpha-2} f^{2(\beta-1)+\lambda}(s)\sigma(g)(s) \mathrm{d}s + \\ &+ \int_0^t \left(1 - \left[\frac{f(s)}{f(t)} \right]^\beta \right)^\alpha \frac{f^\lambda(s)p(s)}{\sigma(g)(s)} \mathrm{d}s + \\ &+ \left(1 - \left[\frac{f(t_0)}{f(t)} \right]^\beta \right)^\alpha f^\lambda(t_0)\varrho(t_0) \quad \text{for } t \geq t_0. \end{aligned}$$
(3.8)

Since assumption (1.2) and notation (2.1) guarantee that

$$\lim_{t \to +\infty} f(t) = +\infty, \tag{3.9}$$

it is easy to get

$$\lim_{t \to +\infty} \int_{0}^{t_0} \left(1 - \left[\frac{f(s)}{f(t)} \right]^{\beta} \right)^{\alpha} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \, \mathrm{d}s = \int_{0}^{t_0} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \, \mathrm{d}s \tag{3.10}$$

and

$$\lim_{t \to +\infty} \left(1 - \left[\frac{f(t_0)}{f(t)} \right]^{\beta} \right)^{\alpha} f^{\lambda}(t_0) \varrho(t_0) = f^{\lambda}(t_0) \varrho(t_0).$$
(3.11)

On the other hand, we have

$$\int_{t_0}^t \left(1 - \left[\frac{f(s)}{f(t)}\right]^\beta\right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \,\mathrm{d}s \le \\ \le \int_{t_0}^t \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \,\mathrm{d}s \le \frac{1}{(1-\lambda)f^{1-\lambda}(t_0)} \quad \text{for } t \ge t_0 \quad (3.12)$$

and

$$\frac{1}{f^{\alpha\beta}(t)}\int_{t_0}^t \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha-2} f^{2(\beta-1)+\lambda}(s)\sigma(g)(s) \,\mathrm{d}s \le 0$$

 $On \ Oscillation \ of \ Second-Order \ ODEs$

$$\leq \frac{1}{f^{\beta(\alpha-1)}(t)f^{1-\lambda}(t_0)} \int_{t_0}^t f^{\beta-1}(s) \left(f^{\beta}(t) - f^{\beta}(s)\right)^{\alpha-2} \sigma(g)(s) \,\mathrm{d}s =$$
$$= \frac{1}{\beta(\alpha-1)f^{1-\lambda}(t_0)} \left(1 - \left[\frac{f(t_0)}{f(t)}\right]^{\beta}\right)^{\alpha-1} \leq$$
$$\leq \frac{1}{\beta(\alpha-1)f^{1-\lambda}(t_0)} \quad \text{for } t \geq t_0. \quad (3.13)$$

Consequently, in view of (3.10)–(3.13), relation (3.8) implies that

$$\limsup_{t \to +\infty} k(t; \alpha, \beta, \lambda) \leq \frac{1}{2} \left(\frac{\lambda^2}{1 - \lambda} + \frac{\alpha^2 \beta}{\alpha - 1} \right) \frac{1}{f^{1 - \lambda}(t_0)} + \int_0^{t_0} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \, \mathrm{d}s + f^{\lambda}(t_0)\varrho(t_0),$$

and thus inequality (3.2) is satisfied.

Assume now that, in addition, relation (3.3) holds. We will show that inequality (3.4) is satisfied. It is obvious that either

$$\int_{t_0}^{+\infty} \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda \right]^2 \mathrm{d}s = +\infty,$$
(3.14)

or

$$\int_{t_0}^{+\infty} \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda \right]^2 \mathrm{d}s < +\infty.$$
(3.15)

Suppose that (3.14) holds. For any $\tau \ge a$ we have

$$\int_{t_0}^t \left(1 - \left[\frac{f(s)}{f(t)}\right]^\beta\right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda\right]^2 \mathrm{d}s \ge \\ \ge \int_{t_0}^\tau \left(1 - \left[\frac{f(s)}{f(t)}\right]^\beta\right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda\right]^2 \mathrm{d}s \quad \text{for } t \ge \tau \end{aligned}$$

and thus

$$\liminf_{t \to +\infty} \int_{t_0}^t \left(1 - \left[\frac{f(s)}{f(t)} \right]^\beta \right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda \right]^2 \mathrm{d}s \ge \\ \ge \int_a^\tau \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda \right]^2 \mathrm{d}s \quad \text{for } \tau \ge t_0.$$

The last relation, by virtue of equality (3.14), guarantees that

$$\lim_{t \to +\infty} \int_{t_0}^t \left(1 - \left[\frac{f(s)}{f(t)} \right]^\beta \right)^\alpha \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \lambda \right]^2 \mathrm{d}s = +\infty.$$

Therefore inequality (3.8), together with (3.10)-(3.13), yields

$$\limsup_{t\to+\infty} k(t;\lambda) = -\infty$$

which contradicts assumption (3.3). The obtained contradiction proves that inequality (3.15) holds. Since the function $\sqrt{\frac{\sigma(g)(\cdot)}{f^{2-\lambda}(\cdot)}}$ is quadratically integrable on $[t_0, +\infty[$, relation (3.4) is fulfilled, as well.

The next lemma belongs to P. Hartman in the case where $\lambda = 0$ and $g \equiv 0$ (see, e.g., [5,6]).

Lemma 3.2. Let $\lambda < 1$, condition (1.2) hold, and u be a solution to equation (1.1) satisfying relation (3.1) with $t_0 > 0$. Moreover, let condition (3.4) be fulfilled, where the function ρ is defined by formula (3.5). Then there exists a finite limit

$$\lim_{t \to +\infty} c(t;\lambda). \tag{3.16}$$

Proof. In view of (1.1), from relation (3.5) we easily obtain equality (3.6). Multiplying both sides of (3.6) by the expression $f^{\lambda}(t)$ and integrating it by parts from t_0 to t, we arrive at

$$f^{\lambda}(t)\varrho(t) - f^{\lambda}(t_0)\varrho(t_0) - \lambda \int_{t_0}^t \frac{\sigma(g)(s)}{f^{1-\lambda}(s)} \varrho(s) \,\mathrm{d}s =$$
$$= -\int_{t_0}^t \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \,\mathrm{d}s - \int_{t_0}^t f^{\lambda}(s)\sigma(g)(s)\varrho^2(s) \,\mathrm{d}s \quad \text{for } t \ge t_0,$$

whence we get

$$\frac{1}{f^{1-\lambda}(t)} \left[f(t)\varrho(t) - \frac{\lambda}{2} \right] = \varrho_1 - \frac{\lambda(2-\lambda)}{4(1-\lambda)} \frac{1}{f^{1-\lambda}(t)} - \int_0^t \frac{f^\lambda(s)p(s)}{\sigma(g)(s)} \,\mathrm{d}s + \int_t^{+\infty} \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2} \right]^2 \,\mathrm{d}s \quad \text{for } t \ge t_0, \quad (3.17)$$

 $On \ Oscillation \ of \ Second-Order \ ODEs$

where

$$\begin{split} \varrho_1 &:= f^{\lambda}(t_0) \varrho(t_0) + \frac{\lambda^2}{4(1-\lambda)f^{1-\lambda}(t_0)} + \\ &+ \int_0^{t_0} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \,\mathrm{d}s - \int_{t_0}^{+\infty} \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2} \right]^2 \mathrm{d}s. \end{split}$$

We now multiply both sides of equality (3.17) by the expression $f^{-\lambda}(t)\sigma(g)(t)$, integrate them by parts from t_0 to t and thus we get

$$\int_{t_0}^t \frac{\sigma(g)(s)}{f(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2} \right] \mathrm{d}s = -\int_0^t \frac{\sigma(g)(s)}{f^\lambda(s)} \left(\int_0^s \frac{f^\lambda(\xi)p(\xi)}{\sigma(g)(\xi)} \,\mathrm{d}\xi \right) \mathrm{d}s + \\ + \int_{t_0}^t \frac{\sigma(g)(s)}{f^\lambda(s)} \left(\int_s^{+\infty} \frac{\sigma(g)(\xi)}{f^{2-\lambda}(\xi)} \left[f(\xi)\varrho(\xi) - \frac{\lambda}{2} \right]^2 \mathrm{d}\xi \right) \mathrm{d}s + \\ + \frac{\varrho_1}{1-\lambda} f^{1-\lambda}(t) - \frac{\lambda(2-\lambda)}{4(1-\lambda)} \ln \frac{f(t)}{f(t_0)} + \varrho_3 \quad \text{for } t \ge t_0, \quad (3.18)$$

where

$$\varrho_3 := \int_0^{t_0} \frac{\sigma(g)(s)}{f^\lambda(s)} \left(\int_0^s \frac{f^\lambda(\xi)p(\xi)}{\sigma(g)(\xi)} \,\mathrm{d}\xi \right) \mathrm{d}s - \frac{\varrho_1}{1-\lambda} f^{1-\lambda}(t_0).$$

Since assumption (1.2) and notation (1.3) guarantee that relation (3.9) holds, by using the l'Hospital rule, it is easy to get

$$\lim_{t \to +\infty} \frac{1}{f^{1-\lambda}(t)} \ln \frac{f(t)}{f(t_0)} \, \mathrm{d}s = 0 \tag{3.19}$$

and

$$\lim_{t \to +\infty} \frac{1}{f^{1-\lambda}(t)} \int_{t_0}^t \frac{\sigma(g)(s)}{f^{\lambda}(s)} \left(\int_s^{+\infty} \frac{\sigma(g)(\xi)}{f^{2-\lambda}(\xi)} \left[f(\xi)\varrho(\xi) - \frac{\lambda}{2} \right]^2 \mathrm{d}\xi \right) \mathrm{d}s = 0. \quad (3.20)$$

On the other hand, by using the Hölder inequality, we obtain

$$\begin{split} \left(\int\limits_{t_0}^t \frac{\sigma(g)(s)}{f(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2}\right] \mathrm{d}s\right)^2 \leq \\ & \leq \int\limits_{t_0}^t \frac{\sigma(g)(s)}{f^{\lambda}(s)} \,\mathrm{d}s \int\limits_{t_0}^t \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2}\right]^2 \mathrm{d}s \leq \\ & \leq \frac{f^{1-\lambda}(t)}{1-\lambda} \int\limits_{t_0}^t \frac{\sigma(g)(s)}{f^{2-\lambda}(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2}\right]^2 \mathrm{d}s \quad \text{for } t \geq t_0 \end{split}$$

and thus, by virtue of relations (3.4) and (3.9), we have

$$\lim_{t \to +\infty} \frac{1}{f^{1-\lambda}(t)} \int_{t_0}^{t} \frac{\sigma(g)(s)}{f(s)} \left[f(s)\varrho(s) - \frac{\lambda}{2} \right] \mathrm{d}s = 0.$$
(3.21)

Consequently, in view of relations (3.9) and (3.19)–(3.21), it follows from equality (3.18) that

$$\lim_{t \to +\infty} c(t; \lambda) = \varrho_1.$$

Proof of Theorem 2.1. Assume, to the contrary, that there exists a solution u to equation (1.1) fulfilling relation (3.1) with $t_0 > 0$.

Then, according to Lemma 3.1, assumption (2.4) of Theorem 2.1 cannot be satisfied and thus assumptions (2.5) and (2.6) hold. By using Lemma 3.1, we obtain the validity of inequality (3.4) in which the function ρ is defined by formula (3.5). However, Lemma 3.2 then guarantees that there exists a finite limit (3.16) which contradicts assumption (2.6).

Proof of Corollary 2.1. By direct calculation we can check that

$$\begin{aligned} k(t;2,1-\lambda,\lambda) &= \frac{1}{f^{2(1-\lambda)}(t)} \int_{0}^{t} \left(f^{1-\lambda}(t) - f^{1-\lambda}(s)\right)^{2} \frac{f^{\lambda}(s)p(s)}{\sigma(g)(s)} \,\mathrm{d}s = \\ &= \frac{2(1-\lambda)}{f^{2(1-\lambda)}(t)} \int_{0}^{t} \left(f^{1-\lambda}(t) - f^{1-\lambda}(s)\right) \frac{\sigma(g)(s)}{f^{\lambda}(s)} \left(\int_{0}^{s} \frac{f^{\lambda}(\xi)p(\xi)}{\sigma(g)(\xi)} \,\mathrm{d}\xi\right) \,\mathrm{d}s = \\ &= \frac{2(1-\lambda)^{2}}{f^{2(1-\lambda)}(t)} \int_{0}^{t} \frac{\sigma(g)(s)}{f^{\lambda}(s)} \left[\int_{0}^{s} \frac{\sigma(g)(\xi)}{f^{\lambda}(\xi)} \left(\int_{0}^{\xi} \frac{f^{\lambda}(\eta)p(\eta)}{\sigma(g)(\eta)} \,\mathrm{d}\eta\right) \mathrm{d}\xi\right] \mathrm{d}s = h(t;\lambda) \end{aligned}$$

for $t \ge 0$ and thus the validity of the corollary follows immediately from Theorem 2.1 with $\alpha = 2$ and $\beta = 1 - \lambda$.

Acknowledgement

For the first author, the research was supported by the Ministry of Education of the Czech Republic under the project MSM0021622409. For the second author, the research was supported by the Academy of Sciences of the Czech Republic, Institutional Research Plan No. AV0Z10190503.

References

- 1. T. CHANTLADZE, N. KANDELAKI, A. LOMTATIDZE, Oscillation and nonoscillation criteria for a second order linear equation. *Georgian Math. J.* 6 (1999), No. 5, 401–414.
- T. A. CHANTURIA, Integral tests for oscillation of the solutions of higher-order linear differential equations. I. (Russian) *Differentsial'nye Uravneniya* 16 (1980), No. 3, 470–482.

- T. A. CHANTURIA, Integral tests for oscillation of the solutions of higher-order linear differential equations. II. (Russian) *Differentsial'nye Uravneniya* 16 (1980), No. 4, 635–644;
- 4. T. A. CHANTURIA, On the oscillation of solutions of higher-order linear differential equations. (Russian) Sem. Inst. Prikl. Mat. Dokl. No. 16 (1982), 73 pp.
- P. HARTMAN, On non-oscillatory linear differential equations of second order. Amer. J. Math. 74 (1952), 389–400.
- P. HARTMAN, Ordinary differential equations. John Wiley & Sons, Inc., New York– London–Sydney, 1964.
- I. V. KAMENEV, An integral criterion for the oscillation of linear differential equations of the second order. (Russian) Mat. Zametki 23 (1978), 249–251; English transl.: Math. Notes 23 (1978), 136–138.
- 8. CH. G. PHILOS, On a Kamenev's integral criterion for oscillation of linear differential equations of second order. *Utilitas Math.* **24** (1983), 277–289.
- CH. G. PHILOS, Oscillation theorems for linear differential equations of second order. Arch. Math. (Basel) 53 (1989), No. 5, 482–492.
- A. WINTNER, A criterion of oscillatory stability. Quart. Appl. Math. 7 (1949), 115– 117.

(Received 3.06.2011)

Authors' addresses:

A. Lomtatidze
Department of Mathematics and Statistics
Faculty of Sciences
Masaryk University
Kotlářská 2, 611 37 Brno
Czech Republic
E-mail: bacho@math.muni.cz

J. Šremr

Institute of Mathematics Academy of Sciences of the Czech Republic Branch in Brno Žižkova 22, 616 62 Brno Czech Republic E-mail: sremr@ipm.cz